Pre-Calculus FINAL EXAM Review
DO THIS ON OWN PAPER!

1st Six Weeks:
State the domain and range in interval notation and determine if each is function or not.
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State the transformation(s) & stretch or shrink.
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Evaluate each function or composite and simplify.
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16.
Evaluate the graphs at the given values.
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17. State the inverse function of each of the following…                  
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Write the equations of the graphs and state the transformation(s).
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	22. Graph:
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Miscellaneous Angles.

	23. In which quadrant does an angle of
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	24. In which quadrant does an angle of 
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	25.  In which quadrant does an angle of 
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	26.  Find an angle co-terminal with 
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.
	27. Find an angle co-terminal with 
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	28.  Express 
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 in radians.

	29.  Express 
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	30.  Find the reference angle for 286(.
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32. Find the exact value for each indicated trig. function, if the point 
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Which quadrant would 
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37. Find the reference angle for each of the following…
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Give exact values for each of the following…
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2nd Six Weeks:
Give the transformation for each function.
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A.  amplitude
B.  period length
C.  vertical shift
D.  phase shift
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A.  amplitude
B.  period length
C.  vertical shift
D.  phase shift
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B.  period length
C.  vertical shift
D.  phase shift



Write the equation for these graphs…
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Graph.
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54.
Evaluate each of the following. EXACT VALUE.
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	55.  The angle of depression from the top of a cliff 350 meters high to the foundation of a house is 
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	56.  A 15-foot ladder is leaning against a house.  The ladder reaches 11 feet up the side of the house.  Find the angle that the ladder makes with the ground
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	Match each expression in Column I to its equivalent “match” in column II (Identities).

	Column I
	Column II
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3rd Six Weeks:
Find the exact value of each of the following.  Express answers in simplest radical form.
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71.
Given 
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Solve.
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Triangles.
	81.  Solve the triangle. [image: image129.emf]20
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Find the area of the triangles.                                           Solve each:
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	86. A rower leaves port on a bearing of 24( for 2.4 miles then takes a bearing of 125( for 3.1 miles. How far is the rower from port?
	87. A 120 foot vertical tower is to be placed on the side of a hill that makes a 6( angle with the horizontal. Find the length of each of the guy wires that will be anchored 75 feet up hill and downhill.
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Match each expression in Column I to its equivalent “match” in column II.
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